



Gradient Ricci Solitons on Multiply Warped Product Manifolds

Fatma Karaca^a, Cihan Özgür^b

^aBeykent University, Department of Mathematics, 34550, Beykent, Buyukcekmece, Istanbul, TURKEY.

^bBalıkesir University, Department of Mathematics, 10145, Balıkesir, TURKEY

Abstract. We consider gradient Ricci solitons on multiply warped product manifolds. We find the necessary and sufficient conditions for multiply warped product manifolds to be gradient Ricci solitons.

1. Introduction

In [7], Ricci solitons are introduced by Hamilton, which are both a natural generalization of Einstein manifolds and a special solution of the Ricci flow. Let (M, g) be a Riemannian manifold endowed with a Riemannian metric g . If there exists a vector field $X \in \chi(M)$ and a constant λ such that the Ricci tensor satisfies the following equation

$$\text{Ric} + \frac{1}{2}L_X g = \lambda g, \quad (1)$$

where L_X is the Lie derivative along to X , then (M, g) is called a *Ricci soliton* (see also [8]). The Ricci soliton is said to be shrinking, steady or expanding if $\lambda > 0$, $\lambda = 0$ or $\lambda < 0$, respectively. If $X = \text{grad}\psi$ for some function ψ on M , then M is called a *gradient Ricci soliton*. Thus, the equation (1) turns into the following equation

$$\text{Ric} + \text{Hess}\psi = \lambda g, \quad (2)$$

where $\text{Hess}\psi$ denotes the Hessian of ψ and ψ is a potential function [7].

In [10], Petersen and Wylie studied gradient Ricci solitons with maximal symmetry and constructed examples of cohomogeneity one gradient solitons. In [11], the same authors classified 3-dimensional shrinking gradient solitons. In [14], Kim, Lee, Choi and Lee studied gradient Ricci solitons on Riemannian product spaces and warped product spaces. In [15], Shenawy studied conformal and concurrent vector fields of Ricci solitons on warped product manifolds. In [6], Feitosa, Freitas and Gomes obtained a necessary and sufficient condition for constructing a gradient Ricci soliton warped product. In [12], Lee, Kim and Choi studied Ricci solitons and gradient Ricci solitons on the warped product spaces and gradient Yamabe solitons on the Riemannian product spaces. In [13], the same authors studied gradient Ricci solitons on the warped products $M = S^1 \times_f B$ of 1-dimensional circle and Riemannian manifolds and introduced the

2010 *Mathematics Subject Classification.* Primary 53C25; Secondary 58E11

Keywords. Ricci soliton, gradient Ricci soliton, warped product, multiply warped product

Received: 22 November 2017; Accepted: 18 July 2018

Communicated by Mića S. Stanković

Email addresses: fatmagurlerr@gmail.com (Fatma Karaca), cozgur@balikesir.edu.tr (Cihan Özgür)

generalized Ricci soliton. In [2], De studied gradient Ricci solitons in para-Sasakian manifolds. In [3], [4], [16] and [19], gradient Ricci solitons in almost contact metric manifolds were studied. Motivated by the above studies, in the present paper, we consider gradient Ricci solitons on multiply warped product manifolds. We find the necessary and sufficient conditions for multiply warped product manifolds to be gradient Ricci solitons.

2. Preliminaries

Let (B, g_B) and (F_i, g_{F_i}) be r and s_i dimensional Riemannian manifolds, respectively, where $i \in \{1, 2, \dots, m\}$ and also $M = B \times F_1 \times F_2 \times \dots \times F_m$ be an n -dimensional Riemannian manifold, where $n = r + \sum_{i=1}^m s_i$. Let $b_i : B \rightarrow (0, \infty)$ be smooth functions for $1 \leq i \leq m$. The product manifold $M = B \times_{b_1} F_1 \times_{b_2} F_2 \times \dots \times_{b_m} F_m$ endowed with the metric tensor

$$g = \pi^*(g_B) \oplus (b_1 \circ \pi)^2 \sigma_1^*(g_{F_1}) \oplus \dots \oplus (b_m \circ \pi)^2 \sigma_m^*(g_{F_m}), \tag{3}$$

where π and σ_i are the natural projection on B and F_i , respectively, is called the *multiply warped product*. The functions $b_i : B \rightarrow (0, \infty)$ are called *warping functions* and each manifold (F_i, g_{F_i}) and the manifold (B, g_B) are called *fiber manifolds* and the *base manifold* of the multiply warped product, respectively for $1 \leq i \leq m$ ([5], [17], [18]). We shall denote $\nabla, {}^B\nabla, {}^{F_i}\nabla, Ric, {}^B Ric$ and ${}^{F_i} Ric$ the Levi-Civita connections and the Ricci curvatures of the M, B and F_i , respectively.

Now, we give the following lemmas:

Lemma 2.1. [17] Let $M = B \times_{b_1} F_1 \times_{b_2} F_2 \times \dots \times_{b_m} F_m$ be a multiply warped product with metric $g = g_B \oplus b_1^2 g_{F_1} \oplus \dots \oplus b_m^2 g_{F_m}$. If $X, Y \in \chi(B)$ and $V \in \chi(F_i), W \in \chi(F_j)$, then

- i) $\nabla_X Y$ is the lift of ${}^B\nabla_X Y$ on B ,
- ii) $\nabla_X V = \nabla_V X = \frac{X(b_i)}{b_i} V$,
- iii) $\nabla_V W = \begin{cases} 0 & \text{if } i \neq j, \\ {}^{F_i}\nabla_V W - \left(\frac{g(V,W)}{b_i}\right) grad_B(b_i) & \text{if } i = j. \end{cases}$

Lemma 2.2. [17] Let $M = B \times_{b_1} F_1 \times_{b_2} F_2 \times \dots \times_{b_m} F_m$ be a multiply warped product with metric $g = g_B \oplus b_1^2 g_{F_1} \oplus \dots \oplus b_m^2 g_{F_m}$ and $\varphi : B \rightarrow \mathbb{R}$ be a smooth function for any $i \in \{1, 2, \dots, m\}$. Then

- i) $grad(\varphi \circ \pi) = grad_B \varphi$,
- ii) $\Delta(\varphi \circ \pi) = \Delta_B \varphi + \sum_{i=1}^m \frac{s_i}{b_i} g_B(grad_B \varphi, grad_B b_i)$,

where $grad$ and Δ denote the gradient and Laplace-Beltrami operator on M , respectively.

Lemma 2.3. [17] Let $M = B \times_{b_1} F_1 \times_{b_2} F_2 \times \dots \times_{b_m} F_m$ be a multiply warped product with metric $g = g_B \oplus b_1^2 g_{F_1} \oplus \dots \oplus b_m^2 g_{F_m}$. If $X, Y \in \chi(B)$ and $V \in \chi(F_i), W \in \chi(F_j)$, then

- i) $Ric(X, Y) = {}^B Ric(X, Y) - \sum_{i=1}^m \frac{s_i}{b_i} H_B^{b_i}(X, Y)$,
- ii) $Ric(X, V) = 0$,
- iii) $Ric(V, W) = 0$ if $i \neq j$,
- iv)

$$Ric(V, W) = {}^{F_i} Ric(V, W)$$

$$- \left[\frac{\Delta_B b_i}{b_i} + (s_i - 1) \frac{\|grad_B b_i\|^2}{b_i^2} + \sum_{i=1, k \neq i}^m s_k \frac{g_B(grad_B b_i, grad_B b_k)}{b_i b_k} \right] g(V, W),$$

where $H_B^{b_i}$ denotes the Hessian operator on B .

Let $(M^k, g, \text{grad}\psi)$ be a gradient Ricci soliton. Using the equation (2), it is easy to see that

$$\text{scal} + \Delta\psi = k\lambda, \tag{4}$$

where scal denotes scalar curvature of M . Furthermore, by [9], it is well known that

$$2\lambda\psi - \|\text{grad}\psi\|^2 + \Delta\psi = c, \tag{5}$$

for some constant c .

3. The Gradient Ricci Soliton on a Multiply Warped Product

Let ψ be a potential function of a gradient Ricci soliton multiply warped product M as the lifting of a smooth function on B . Assume that $\tilde{\varphi} = \varphi \circ \pi$ is the lift of a smooth function φ on B . Using the same method in [6], we obtain $\psi = \tilde{\varphi}$.

Now, we give the following proposition:

Proposition 3.1. *Let $M = B \times_{b_1} F_1 \times_{b_2} F_2 \times \dots \times_{b_m} F_m$ be a multiply warped product and φ a smooth function on B . If $(M, g, \text{grad}\tilde{\varphi}, \lambda)$ is a gradient Ricci soliton, then*

$$2\lambda\varphi - \|\text{grad}_B\varphi\|^2 + \Delta_B\varphi + \sum_{i=1}^m \frac{s_i}{b_i} \text{grad}_B\varphi(b_i) = c \tag{6}$$

for some constant c .

Proof. Let $(M, g, \text{grad}\tilde{\varphi}, \lambda)$ be a gradient Ricci soliton. Using the equation (5) and $\psi = \tilde{\varphi}$, we can write

$$2\lambda\tilde{\varphi} - \|\text{grad}\tilde{\varphi}\|^2 + \Delta\tilde{\varphi} = c \tag{7}$$

for some constant c . From parts i) and ii) of Lemma 2.2, the equation (7) turns into

$$2\lambda\varphi - \|\text{grad}_B\varphi\|^2 + \Delta_B\varphi + \sum_{i=1}^m \frac{s_i}{b_i} g_B(\text{grad}_B\varphi, \text{grad}_B b_i) = c$$

for some constant c . Thus, we obtain the desired result. \square

Taking all $b_i = b$ for any $i \in \{1, 2, \dots, m\}$ in Proposition 3.1, we can state the following corollary:

Corollary 3.2. *Let $M = B \times_b F_1 \times_b F_2 \times \dots \times_b F_m$ be a multiply warped product and φ a smooth function on B . If $(M, g, \text{grad}\tilde{\varphi}, \lambda)$ is a gradient Ricci soliton, then*

$$2\lambda\varphi - \|\text{grad}_B\varphi\|^2 + \Delta_B\varphi + \left(\sum_{i=1}^m s_i\right) \frac{\text{grad}_B\varphi(b)}{b} = c \tag{8}$$

for some constant c .

Proposition 3.3. *Let $M = B \times_{b_1} F_1 \times_{b_2} F_2 \times \dots \times_{b_m} F_m$ be a multiply warped product and φ a smooth function on B . If $(M, g, \text{grad}\tilde{\varphi}, \lambda)$ is a gradient Ricci soliton with $s_i > 1$, then*

$${}^B\text{Ric} + H_B^\varphi = \lambda g_B + \sum_{i=1}^m \frac{s_i}{b_i} H_B^{b_i}(X, Y) \tag{9}$$

and ${}^{F_i}\text{Ric} = \mu \sum_{i=1}^m b_i^2 g_{F_i}$ with μ satisfying

$$\mu = \lambda - \frac{\text{grad}_B\varphi(b_i)}{b_i} + \frac{\Delta_B b_i}{b_i} + (s_i - 1) \frac{\|\text{grad}_B b_i\|^2}{b_i^2} + \sum_{i=1, k \neq i}^m s_k \frac{\text{grad}_B b_i(b_k)}{b_i b_k}. \tag{10}$$

Proof. Assume that $(M, g, \text{grad}\widetilde{\varphi}, \lambda)$ is a gradient Ricci soliton. Using part i) of Lemma 2.3 and the equation (2), we find

$$\lambda g(X, Y) - \text{Hess}\widetilde{\varphi}(X, Y) = {}^B Ric(X, Y) - \sum_{i=1}^m \frac{s_i}{b_i} H_B^{b_i}(X, Y).$$

For all $X, Y \in \chi(B)$, it is known that $\text{Hess}\widetilde{\varphi}(X, Y) = H_B^\varphi(X, Y)$, then we can write

$$\lambda g_B(X, Y) - H_B^\varphi(X, Y) = {}^B Ric(X, Y) - \sum_{i=1}^m \frac{s_i}{b_i} H_B^{b_i}(X, Y).$$

This proves the first assertion of the proposition. In a similar way, using part iv) of Lemma 2.3 and the equation (2), we have

$$\begin{aligned} \lambda g(V, W) - \text{Hess}\widetilde{\varphi}(V, W) &= {}^{F_i} Ric(V, W) - \left[\frac{\Delta_B b_i}{b_i} + (s_i - 1) \frac{\| \text{grad}_B b_i \|^2}{b_i^2} \right. \\ &\left. + \sum_{i=1, k \neq i}^m s_k \frac{g_B(\text{grad}_B b_i, \text{grad}_B b_k)}{b_i b_k} \right] g(V, W). \end{aligned}$$

For all $V, W \in \chi(F_i)$, $1 \leq i \leq m$, we obtain

$$\begin{aligned} \lambda \sum_{i=1}^m b_i^2 g_{F_i}(V, W) - \text{Hess}\widetilde{\varphi}(V, W) &= {}^{F_i} Ric(V, W) \\ - \left[\frac{\Delta_B b_i}{b_i} + (s_i - 1) \frac{\| \text{grad}_B b_i \|^2}{b_i^2} + \sum_{i=1, k \neq i}^m s_k \frac{g_B(\text{grad}_B b_i, \text{grad}_B b_k)}{b_i b_k} \right] &\sum_{i=1}^m b_i^2 g_{F_i}(V, W). \end{aligned} \tag{11}$$

Since $\text{grad}\widetilde{\varphi} \in \chi(B)$, using part ii) of Lemma 2.1, we find

$$\begin{aligned} \text{Hess}\widetilde{\varphi}(V, W) &= g(\nabla_V \text{grad}\widetilde{\varphi}, W) = g\left(\frac{\text{grad}\widetilde{\varphi}(b_i)}{b_i} V, W\right) \\ &= \frac{\text{grad}_B \varphi(b_i)}{b_i} \sum_{i=1}^m b_i^2 g_{F_i}(V, W). \end{aligned} \tag{12}$$

Finally, substituting equation (12) into equation (11), we obtain

$$\begin{aligned} \left[\lambda - \frac{\text{grad}_B \varphi(b_i)}{b_i} \right] \sum_{i=1}^m b_i^2 g_{F_i}(V, W) &= {}^{F_i} Ric(V, W) \\ - \left[\frac{\Delta_B b_i}{b_i} + (s_i - 1) \frac{\| \text{grad}_B b_i \|^2}{b_i^2} + \sum_{i=1, k \neq i}^m s_k \frac{g_B(\text{grad}_B b_i, \text{grad}_B b_k)}{b_i b_k} \right] &\sum_{i=1}^m b_i^2 g_{F_i}(V, W). \end{aligned}$$

This completes the proof. \square

Taking all $b_i = b$ for any $i \in \{1, 2, \dots, m\}$ in Proposition 3.3, we can state the following corollary:

Corollary 3.4. Let $M = B \times_b F_1 \times_b F_2 \times \dots \times_b F_m$ be a multiply warped product and φ a smooth function on B . If $(M, g, \text{grad}\varphi, \lambda)$ is a gradient Ricci soliton with $\sum_{i=1}^m s_i > 1$, then

$${}^B Ric + H_B^\varphi = \lambda g_B + \left(\sum_{i=1}^m s_i \right) \frac{H_B^b}{b} \tag{13}$$

and ${}^{F_i} Ric = \mu \sum_{i=1}^m g_{F_i}$ such that

$$\mu = \lambda b^2 - b \text{ grad}_B \varphi(b) + b \Delta_B b + \left(\left(\sum_{i=1}^m s_i \right) - 1 \right) \|\text{grad}_B b\|^2. \tag{14}$$

Proposition 3.5. Let (B^r, g_B) be a Riemannian manifold with two smooth functions $b > 0$ and φ satisfying

$$Ric + Hess\varphi = \lambda g_B + \left(\sum_{i=1}^m s_i \right) \frac{Hessb}{b} \tag{15}$$

and

$$2\lambda\varphi - \|\text{grad}_B \varphi\|^2 + \Delta_B \varphi + \left(\sum_{i=1}^m s_i \right) \frac{\text{grad}_B \varphi(b)}{b} = c \tag{16}$$

for some constant $c, \lambda, s_i \in \mathbb{R}$ with $s_i \neq 0$. Then

$$\lambda b^2 - b \text{ grad}_B \varphi(b) + b \Delta_B b + \left(\left(\sum_{i=1}^m s_i \right) - 1 \right) \|\text{grad}_B b\|^2 = \mu, \tag{17}$$

for a constant $\mu \in \mathbb{R}$.

Proof. Let (B^r, g_B) be a Riemannian manifold. Assume that b and φ satisfy the equations (15) and (16). Using the equation (15), we have

$$scal + \Delta_B \varphi = \lambda r + \left(\sum_{i=1}^m s_i \right) \frac{\Delta_B b}{b},$$

where $scal$ is the scalar curvature of B . Hence, we find

$$d(scal) = -\frac{\left(\sum_{i=1}^m s_i \right)}{b^2} (\Delta_B b) db + \frac{\left(\sum_{i=1}^m s_i \right)}{b} d(\Delta_B b) - d(\Delta_B \varphi). \tag{18}$$

On the other hand, using the equation (15), we calculate

$$\begin{aligned} \text{div} Ric &= \frac{\left(\sum_{i=1}^m s_i \right)}{b} Ric(\text{grad}_B b, \cdot) + \frac{\left(\sum_{i=1}^m s_i \right)}{b} d(\Delta_B b) - \frac{\left(\sum_{i=1}^m s_i \right)}{2b^2} d(\|\text{grad}_B b\|^2) \\ &\quad - Ric(\text{grad}_B \varphi, \cdot) - d(\Delta_B \varphi). \end{aligned} \tag{19}$$

By the use of the equation (15), we obtain

$$Ric(\text{grad}_B b, \cdot) = \lambda db + \frac{\left(\sum_{i=1}^m s_i \right)}{2b} d(\|\text{grad}_B b\|^2) - Hess\varphi(\text{grad}_B b, \cdot) \tag{20}$$

and

$$Ric(\text{grad}_B\varphi, \cdot) = \lambda d\varphi + \frac{\left(\sum_{i=1}^m s_i\right)}{b} \text{Hess}b(\text{grad}_B\varphi, \cdot) - \frac{1}{2} d\left(\|\text{grad}_B\varphi\|^2\right). \tag{21}$$

Using the equations (20) and (21) into the equation (19), we get

$$\begin{aligned} \text{div} Ric &= \frac{\left(\sum_{i=1}^m s_i\right)}{b} \lambda db + \frac{\left(\sum_{i=1}^m s_i\right)\left[\left(\sum_{i=1}^m s_i\right) - 1\right]}{2b^2} d\left(\|\text{grad}_B b\|^2\right) + \frac{\left(\sum_{i=1}^m s_i\right)}{b} d(\Delta_B b) \\ &\quad - \lambda d\varphi + \frac{1}{2} d\left(\|\text{grad}_B\varphi\|^2\right) - d(\Delta_B\varphi) - \frac{\left(\sum_{i=1}^m s_i\right)}{b} d(\text{grad}_B\varphi(b)). \end{aligned} \tag{22}$$

By the contracted second Bianchi identity, the equations (18) and (22) give us

$$\begin{aligned} &d\left(b\Delta_B b + \lambda b^2 + \left[\left(\sum_{i=1}^m s_i\right) - 1\right] \|\text{grad}_B b\|^2\right) \\ &\quad - \frac{b^2}{\left(\sum_{i=1}^m s_i\right)} d\left(\Delta_B\varphi + 2\lambda\varphi - \|\text{grad}_B\varphi\|^2\right) - 2bd(\text{grad}_B\varphi(b)) = 0. \end{aligned} \tag{23}$$

If we take the derivative of the equation (16), then we have

$$\begin{aligned} &-\frac{b^2}{\left(\sum_{i=1}^m s_i\right)} d\left(\Delta_B\varphi + 2\lambda\varphi - \|\text{grad}_B\varphi\|^2\right) - bd(\text{grad}_B\varphi(b)) \\ &= -\text{grad}_B\varphi(b) db. \end{aligned} \tag{24}$$

Finally, substituting the equation (24) into (23), we obtain

$$d\left(\lambda b^2 + b\Delta_B b + \left[\left(\sum_{i=1}^m s_i\right) - 1\right] \|\text{grad}_B b\|^2 - b \text{grad}_B\varphi(b)\right) = 0.$$

Thus, we can write

$$\lambda b^2 + b\Delta_B b + \left[\left(\sum_{i=1}^m s_i\right) - 1\right] \|\text{grad}_B b\|^2 - b \text{grad}_B\varphi(b) = \mu$$

for a constant $\mu \in \mathbb{R}$. This completes the proof. \square

Using the above propositions, we can state the following theorems:

Theorem 3.6. *Let $(M = B \times_b F_1 \times_b F_2 \times \dots \times_b F_m, g, \text{grad}\tilde{\varphi}, \lambda)$ be a gradient Ricci soliton on a multiply warped product, where $\tilde{\varphi} = \varphi \circ \pi$. If $(M, g, \text{grad}\tilde{\varphi}, \lambda)$ is expanding ($\lambda < 0$) or steady ($\lambda = 0$) with $(\sum_{i=1}^m s_i) > 1$ and that its warping function b reaches both maximum and minimum, then $(M, g, \text{grad}\tilde{\varphi}, \lambda)$ must be a Riemannian product.*

Proof. Let $M = B \times_b F_1 \times_b F_2 \times \dots \times_b F_m$ be a multiply warped product. Assume that b reaches both maximum and minimum. By Corollary 3.4, we have ${}^{F_i}Ric = \mu \sum_{i=1}^m g_{F_i}$ where

$$\mu = \lambda b^2 - b \operatorname{grad}_B \varphi(b) + b \Delta_B b + \left(\sum_{i=1}^m s_i - 1 \right) \|\operatorname{grad}_B b\|^2. \tag{25}$$

Then, by Proposition 3.5, it is known that μ is a constant. Let $p, q \in B^r$ be the points, where b attains its maximum and minimum in B^r . Hence, we can write

$$\operatorname{grad}_B b(p) = 0 = \operatorname{grad}_B b(q) \quad \text{and} \quad \Delta_B b(p) \leq 0 \leq \Delta_B b(q). \tag{26}$$

Finally, using the same method of Theorem 1 in [6], we find that b is a constant. This completes the proof. \square

Theorem 3.7. Let $(M = B \times_b F_1 \times_b F_2 \times \dots \times_b F_m, g, \operatorname{grad} \widetilde{\varphi}, \lambda)$ be a gradient Ricci soliton on a multiply warped product, where $\widetilde{\varphi} = \varphi \circ \pi$. If $(M, g, \operatorname{grad} \widetilde{\varphi}, \lambda)$ is a shrinking ($\lambda > 0$) with compact base and $(\sum_{i=1}^m s_i) > 1$ –dimensional compact fibers, then $(M, g, \operatorname{grad} \widetilde{\varphi}, \lambda)$ must be a compact manifold.

Proof. Let $(M = B \times_b F_1 \times_b F_2 \times \dots \times_b F_m, g, \operatorname{grad} \widetilde{\varphi}, \lambda)$ be a gradient Ricci soliton on a multiply warped product. From Theorem 3.6, we have ${}^{F_i}Ric = \mu \sum_{i=1}^m g_{F_i}$, where μ is a constant. Using the same method of Theorem 2 in [6], we find

$$\mu \operatorname{vol}_\varphi(B^r) = \lambda \int_{B^r} b^2 e^{-\varphi} dB + \left(\left(\sum_{i=1}^m s_i \right) - 2 \right) \int_{B^r} \|\operatorname{grad}_B b\|^2 e^{-\varphi} dB.$$

Since $\lambda > 0$ and $\sum_{i=1}^m s_i > 1$, we have $\mu > 0$. By the use of the Bonnet-Myers Theorem, F_i are compact for $1 \leq i \leq m$. Thus, $B \times_b F_1 \times_b F_2 \times \dots \times_b F_m$ is a compact manifold. This completes the proof. \square

Theorem 3.8. Let (B^r, g_B) be a complete Riemannian manifold with two smooth functions $b > 0$ and φ satisfying the equations (15) and (16). Assume that $(F_i^{s_i}, g_{F_i})$ are complete Riemannian manifolds for $1 \leq i \leq m$ with Ricci tensor ${}^{F_i}Ric = \mu \sum_{i=1}^m g_{F_i}$ such that μ satisfies the equation (14) and $(\sum_{i=1}^m s_i) > 1$. Then $(M = B \times_b F_1 \times_b F_2 \times \dots \times_b F_m, g, \operatorname{grad} \widetilde{\varphi}, \lambda)$ is a gradient Ricci soliton, where $\widetilde{\varphi} = \varphi \circ \pi$.

Proof. Assume that (B^r, g_B) is a complete Riemannian manifold with two smooth functions $b > 0$ and φ satisfying the equations (15) and (16). Let $(F_i^{s_i}, g_{F_i})$ be complete Riemannian manifolds for $1 \leq i \leq m$ whose Ricci tensor ${}^{F_i}Ric = \mu \sum_{i=1}^m g_{F_i}$ with μ satisfying the equation (14) and $\sum_{i=1}^m s_i > 1$. Firstly, we can consider the multiply warped product $(B \times_b F_1 \times_b F_2 \times \dots \times_b F_m, g)$ with $g = \pi^*(g_B) \oplus (b \circ \pi)^2 \sigma_1^*(g_{F_1}) \oplus \dots \oplus (b \circ \pi)^2 \sigma_m^*(g_{F_m})$. By the use of the part i) of Lemma 2.3 and the equation (15), the equation (2) is satisfied for all $X, Y \in \chi(B)$. Then, for $X \in \chi(B)$ and $V \in \chi(F_i)$, using $\operatorname{grad} \widetilde{\varphi} \in \chi(B)$, we have

$$\operatorname{Hess} \widetilde{\varphi}(X, V) = g(\nabla_X \operatorname{grad} \widetilde{\varphi}, V) = 0. \tag{27}$$

In view of the part ii) of Lemma 2.3 and the equation (27), the equation (2) is satisfied. Moreover, for $V \in \chi(F_i)$ and $W \in \chi(F_j)$ with $i \neq j$, we have

$$\operatorname{Hess} \widetilde{\varphi}(V, W) = g(\nabla_V \operatorname{grad} \widetilde{\varphi}, W) = 0. \tag{28}$$

Thus, by the use of the part iii) of Lemma 2.3 and the equation (28), the equation (2) is satisfied. Finally, for $V, W \in \chi(F_i)$ and also using the equations (14), ${}^{F_i}Ric = \mu \sum_{i=1}^m g_{F_i}$ and the part iv) of Lemma 2.3, we get

$$\operatorname{Ric}(V, W) = \mu \sum_{i=1}^m g_{F_i}(V, W) - [b \Delta_B b + (s_i - 1) \|\operatorname{grad}_B b\|^2]$$

$$\begin{aligned}
& + \sum_{i=1, k \neq i}^m s_k \|grad_B b\|^2 \left] \sum_{i=1}^m g_{F_i}(V, W) \right. \\
& = \left[\mu - b\Delta_B b - (s_i - 1) \|grad_B b\|^2 - \sum_{i=1, k \neq i}^m s_k \|grad_B b\|^2 \right] \sum_{i=1}^m g_{F_i}(V, W) \\
& \left[\mu - b\Delta_B b - \left(\left(\sum_{i=1}^m s_i \right) - 1 \right) \|grad_B b\|^2 \right] \sum_{i=1}^m g_{F_i}(V, W) \\
& = \left(\lambda - \frac{grad_B \varphi(b)}{b} \right) g(V, W). \tag{29}
\end{aligned}$$

From the equation (12), we have

$$Hess \tilde{\varphi} = \frac{grad_B \varphi(b)}{b} g(V, W). \tag{30}$$

Substituting the equation (30) into (29), we obtain the equation (2). This proves the theorem. \square

References

- [1] J. Case, Y. Shu, G. Wei, Rigidity of quasi-Einstein metrics, *Differential Geom. Appl.* 29 (2011) 93–100.
- [2] U. C. De, Ricci solitons and gradient Ricci solitons in a P-Sasakian manifold, *Aligarh Bull. Math.* 29 (2010) 29–33.
- [3] U. C. De, M. Turan, A. Yıldız, A. De, Ricci solitons and gradient Ricci solitons on 3-dimensional normal almost contact metric manifolds, *Publ. Math. Debrecen* 80 (2012) 127–142.
- [4] U. C. De, Y. Matsuyama, Ricci solitons and gradient Ricci solitons in a Kenmotsu manifolds, *Southeast Asian Bull. Math.* 37 (2013) 691–697.
- [5] F. Dobarro, B. Ünal, Curvature of multiply warped products, *J. Geom. Phys.* 55 (2005) 75–106.
- [6] F. E. S. Feitosa, A. A. Freitas, J. N. V. Gomes, On the construction of gradient Ricci soliton warped product, *Nonlinear Anal.* 161 (2017) 30–43.
- [7] R. S. Hamilton, Three-manifolds with positive Ricci curvature, *J. Differential Geom.* 17 (1982) 255–306.
- [8] R. S. Hamilton, The Ricci flow on surfaces, mathematics and general relativity, *Mathematics and general relativity, Proceedings of the AMS-IMS-SIAM Joint Summer Research Conference in the Mathematical Sciences on Mathematics in General Relativity*, Univ. of California, Santa Cruz, California, (1986), 237–262.
- [9] R. S. Hamilton, The formation of singularities in the Ricci flow, *Surveys in Differential Geometry* (Cambridge, MA, 1993), International Press, Cambridge, MA, 2 (1995), 7–136.
- [10] P. Petersen, W. Wylie, On gradient Ricci solitons with symmetry, *Proc. Amer. Math. Soc.* 137 (2009) 2085–2092.
- [11] P. Petersen, W. Wylie, On the classification of gradient Ricci solitons, *Geom. Topol.* 14 (2010) 2277–2300.
- [12] S. D. Lee, B. H. Kim, J. H. Choi, On a classification of warped product spaces with gradient Ricci solitons, *Korean J. Math.* 24 (2016) 627–636.
- [13] S. D. Lee, B. H. Kim, J. H. Choi, Warped product spaces with Ricci conditions, *Turkish J. Math.* 41 (2017) 1365–1375.
- [14] B. H. Kim, S. D. Lee, J. H. Choi, Y. O. Lee, On warped product spaces with a certain Ricci condition, *Bull. Korean Math. Soc.* 50 (2013) 1683–1691.
- [15] S. Shenawy, Ricci solitons on warped product manifolds, arXiv:1508.02794 (2015).
- [16] M. Turan, U. C. De, A. Yıldız, Ricci solitons and gradient Ricci solitons in three-dimensional trans-Sasakian manifolds, *Filomat* 26 (2012) 363–370.
- [17] B. Ünal, Doubly Warped Products, Ph. D. Thesis, University of Missouri-Columbia, 2000.
- [18] B. Ünal, Multiply warped products, *J. Geom. Phys.* 34 (2000) 287–301.
- [19] Y. Wang, U. C. De, X. Liu, Gradient Ricci solitons on almost Kenmotsu manifolds, *Publ. Inst. Math. (Beograd) (N.S.)* 98 (2015) 227–235.